Children's cartoon viewing experience questionnaire

Name: gender: age:
Dimension Question Coding scheme Coding explanation
Understand 1. Why is Briar's ass 2 points: Because he wants to eat honey, the fire is to use This dimension

Identity

hurt?

2. Why is Bramble

smoked bees, the butt is burned.

1 point: Did not answer the reason for the incident. Only
answered "the ass was burned."

0 point: “I don't know” or the answer doesn't match the
question.

2 points: Because he wants to eat honey, but the honeycomb

mainly examines the
child's understanding
of the cartoon plot and
content.

The higher the child's

score, the better their

climbing the ladder?  is too high, he can't reach it. understanding.
1 point: There is no answer to the cause of the incident, just
answer "He can't reach" or "Briar let him climb".
0 point: “I don't know” or the answer doesn't match the
question.
3. Where is Logger 2 points: It fell out and was taken away by Warren.
Vick's rocket? 1 point: Lost.
0 point: “I don't know” or the answer doesn't match the
question.
4. Why did Logger 2 points: Logger Vick missed the shot because Warren was
Vick still not beat holding the rocket.
Briar and Bramble 1 point: Only answer some minor reasons like "Bears ran
after finding the away, shot in the sky", etc.
rocket? 0 point: “I don't know” or the answer doesn't match the
question.
5.Who do you like the ~ A. Logger Vick (1 point) This dimension
most in cartoons? B. Briar (2 points) mainly examines
Why? C. Bramble (3 points) which animated

6. Who do you hate
most about cartoons?

why?

7. Logger Vick is
always hit by Briar
and Bramble. Do you
think he is pitiful?
why?

D. Warren-squirrel (4 points)
E. Others (5 points) reason
A. Logger Vick (1 point)
B. Briar (2 points)

C. Bramble (3 points)

D. Warren (4 points)

E. Others (5 points) reason

A. No pity, this is the punishment he deserves (1 point)

B. Poor, but also the punishment he deserves (2 points)

C. Poor (3 points)

D. “I don't know” or the answer doesn't match the question.

(4 points)

character children are

most fond of, and

whether they will
beautify the
character's  violence

because of  this

identity.




Reality

Emotion

8. To eat honey, Briar
and Bramble went to
climb the tree and set
the fire. Do you think
this could happen in
real life? Why?

9. When Bramble was
chased by a bee, he
ran away on a ladder
that had been broken
into two. Do you think
this will happen in
real life? why?

Vick
finally used the rocket

10.  Logger

to shoot Warren into
the sky. Do you think
this kind of thing will
happen in real life?

why?

Do you think this could happen in real life?
A. Yes (1 point)
B. No (2 points)

C. “I don’t know” or “I am not sure” (3 points)

Why?

A. Experience proof (1 point)
B. Hypothesis proof (2 points)
C. Redundant proof (3 points)
D. Don’t know. (4 points)

This

mainly

dimension
examines
whether children can
distinguish  between
reality and illusory
events, and whether
they think that cartoon
scenes can happen in
real life, and what
interpretation

strategies they will

use.

11. What do you think
of when Logger Vick
fights with Briar and
Bramble? Are

happy or scared?

you

12. Do you think your
feel

nervous and scared

friends  will
when they watch this
cartoon?

13. What is your most

impressive sentence?

14. What is your most

impressive scene?

. Happy (1 point)

. Fear (2 points)

. Happy and scared (3 points)

. Not happy or afraid (4 points)

. Other feelings (5 points)

. No (1 point)

B. They will feel a little fear (2 points)
C. Yes (3 points)

D. “I don't know” (4 points).
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The emotional state of the character who said this sentence
A. Positive (1 point)

B. Neutral (2 points)

C. Negative (3 points)

D. “Not remembered” (4 points)

A. Danger (1 point)

B. Violence (2 points)

C. Other (3 points)

D. Don’t know or Not remembered (4 points)

This

mainly

dimension
examines
whether children will

feel uneasy or excited

when watching
cartoons in certain
violent scenes.

Whether children are
more impressed with
violence and
aggressive scenes and

language.

The higher the child's
score, the more
positive emotions
(such as excitement)
that children are
awakened by violent
scenes. The lower the
child's score, the more
the reverse emotions
(such as restlessness)

are awakened.




Aggressive

Fantasy

15. If you are a Briar,
how would you teach

Logger Vick a lesson?

16. If you can be an
animal in a cartoon,
what kind of animal
do you want to be?

why?

A. Physical attack (1 point)

B. Speech attacks (2 points)

C. Alternative attacks (3 points)

D. No attack or can be ignored (4 points)

2 points: carnivores and aggressive animals such as tigers
1 point: non-carnivorous animals

0 point: “I don't know”.

This

primarily a measure

dimension is

of a child's
aggressiveness

because it is also
associated with

realistic aggression.

The higher the child's
score, the more
aggressive  illusions

they have.
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